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1. What explains the fact that, during the last 100 years or so, employment has significantly shifted to the service sector? (1.5 Points)
According to Clark-Fisher hypothesis, as productivity increases in one sector, the labor force moves into another. This argument simply explains the reason under which employment has significantly shifted to the service sector during the last 100 years or so. In fact, as farmers started to use machinery, technology and new tested agricultural procedures, labor need in the agricultural sector diminished forcing the majority to move to the manufacturing sector. Some time later, manufacturing sector started to be more productive mainly by substituting technology for labor. This, once more, had an impact resulting in a shift of labor to the service industry.
2. Apply the 5 components of the service package to the service “Education” at Bilkent University”? (2.5 Points)
The following is the application of the service package to “Education” service at Bilkent University:

· Supporting facility: various buildings accommodating schools / faculties.
· Facilitating goods: books, computers, audiovisual equipments / materials…

· Information: data that can be entered / accessed via systems like SRS / AIRS / DAIS…

· Explicit Services: Feeling of knowledge gained

· Implicit Services: Prestige of a Bilkent University’s graduation certificates.
3. How can on-line reservation systems serve as to create entry barriers for companies in the industry? (2 Points)
On-line reservation systems can generate speedy, accurate and higher potential reservation business volume (by managing to deviate demand into valley periods). Such a competitive advantage is usually gained by the first mover (i.e. developer of the reservation system). Recall, for example, that United and Delta Airlines have duplicated the on-line reservation system of American Airlines (SABRE) at a relatively high cost while nearly all small airline carriers can use SABRE system for a fee. Therefore, on-line reservation systems can sweep away competition and serve, therefore, as an entry barrier to the industry.
4. “The line of visibility is relatively low for a gourmet restaurant compared to that for a fast food restaurant.” Do you agree with this statement? Why? Why not? (2 Points)
I don’t agree with this statement. Since the degree of involvement of the customer in the service delivery process is relatively low for a gourmet restaurant compared to fast food restaurant, it implies that line of visibility should be high for a gourmet restaurant (compared to fast food restaurant).
5. What are some of the challenges of adopting new technology in services as far as the recipients of that very service (i.e. customers) are concerned? (2 Points)
Some of the challenges of adopting new technology in services as far as the recipients of that very service (i.e. customers) are concerned might be:

· Customer acceptance of the new technology

· Ability and willingness to learn new skills while using the new technology

· Perception of the degree of involvement in the new technology

· Benefits forgone / gained while shifting to the new technology

· Degree of convenience / hassle of the new technology

6. How can walk-through-audit serve as a diagnostic instrument for management? (2 Points)

Walk-through-audit can serve as a diagnostic instrument for management because, in this way, management tries to evaluate the gaps in perception between customers and managers of the service delivery system and, hence, serve as to remedy GAP 1 quality problem.
Good Luck
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